Question: 1

What are the two negotiation sages defined for the point to point protocol (PPP)?
(choose two)

A.IP
B. IPX
C. NCP
D. LCP

Answer: C,D

Question: 2

Which configuration command correctly sets the encapsulation type for a PPP over ATM
interface?

A. encapsulation ppp

B. encapsulation pppoa

C. encapsulation aal5mux
D. encapsulation aal5snap

Answer: A

Question: 3

Which software process sorts client login requests and assigns hem o a virtual router for RADIUS
service?

A.PPP
B. AAA
C.LCP
D. NCP

Answer: B

Question: 4

Which session type supports RADIUS authentication?

A.FTP
B. SSL
C.scp
D. Telne

Answer: D




Question: 5

In a PPP over ATM service offering, what is a valid method for assigning an
address o the ERX Edge Router?

A. DHCP assigned addresses

B. RADIUS assigned address

C. IP numbered with a loopback reference

D. IP unnumbered with a loopback reference

Answer: D

Question: 6

When sending an LCP Configuration Request, what can the ERX Edge Router possibly negotiate?

A. MRU

B. IP address

C. WINS assignment

D. Domain Name Server

Answer: A

Question: 7

What are the well-known UDP ports used by RADIUS accounting servers? (choose two)

A. 1645
B. 1646
C. 1812
D. 1813

Answer: B,D

Question: 8

In a PPP over ATM environment, which two PPP authentication methods are supported by the
ERX Edg Router?

A. IKE

B. PAP

C. CHAP

D. MSCHAP

Answer: B,C




Question: 9

Which is a method by which an IP interface can be assigned to a assigned to a virtual router in a
PPP over ATM environment?

A. policy list

B. domain map

C. classifier ACL

D. LCP negotiation

Answer: B

Question: 10

What parameter is sent by the LAC when it is establishing an L2TP session with the LNS?

A. Tunnel ID
B. Password
C. IP address
D. Session ID

Answer: D




